S O A AHZEg 2o o Yol=
56 cm? Yyt

HaAEE L=l

Wole % em® 4Y71?

(5]

cm

-

_.-25cm--_

s
T 8cm



umqo] 25¢m , =0|7} 42cm ¢ AZHg o] Q&Y o] Azt Tt
Wo|7t 231, WHio] 35cm Q WA 0] ol cm JUY7L?

%
e = cm



i T

.

ol
5L
>

3

cm




4.

52 Wpolk 271 7
o 7} 7k -2

T =
ge
=

%513, 72 LHrolz 27 &
o]-/\]



15 2 eolk, 18 2 Yol gy v x| 7} 2yt
oM 12 A Hom 22 £5 FSHA L.



Al 4103, 247, 343 & USRS o, YHA|7F RE 77 Bl 5 5
FHAR Z 55 LA L.

B
=¥






ol

N 3
3 o & 77h& 49
& 7o 72
= °f



HAL2.

S

R

— 1N



thE 208 Fot A} A

to] 2 wi7h2] 29 A7k

23

Feol7t A4g Al

g §
P55 ey AL,

TIL
E

~



11.

2L Bo]9] %0 Bo] ¢

| >~

5

L

S A BQiotH, o=

"

o]
AN AR

™

=

_1:‘_
L

7
| 075L & Mgk 155 L

of E& © Folok 7S A5



AL,

S

zo] Zojrrt 25cm 7} o B
27

&
off 712l ld 9] Zo]

aolo
~a
a
uy
P33
= op
TGS
o N
N __O._
o %
TH o
#q
olJ <[z
1 RonS

cm



13. =39 4G F10] Holg T340,

300cm 500cm
1




14. =39 45 F10] Hol g T514|.2,

. 1bem..

ilcm
2cm| :

cm



o]
HA L.

T
=

Relguh g MEstA 9] Yol @ em? 1A 7

g} Zro] M3}z o)A 7FE 16cm , A= 6em

=

]

a
2

15.

_-20cm- - _

Cm2




~

_---15cm---_

~

~

'!j"\

/

I}
6cm
\

\




17. o= =99 HolE FsH 2.







